EARNED
SCHEDULE

at the end of the project

during project execution




The project —a drone swarm

e Build 150 drones

* for a New Years swarm



The challenge: forecast time and cost Q

Question: Stop steering from looking |

* How to forecast
e total time needed
* total expenditure expected

* during executing




Earned Schedule : the past does feed into the future Q

Empirical predictions Forecast the future

* \We assume we can make reasonable * Based on realized production
predictions of expected time and costs extrapolate

* Planning is based on delivery of finished * Expected total duration
products * Expected total cost

* We assume teams reach stable operations
* AKA stable productivity




The example

An easy project:

* Assemble 2 drones per day
* 10 drones per week
e 150 drones in 15 weeks

* Cost per unit: € 10,-
 Total budgeted costs: € 1.500,-

Planning is straightfor

The plan:
Planned Drones per week

160 150
140
120
100

80

2 3 4 5 6 / 8 9 10 11 12 13 14 15 16 17 18 19
Weeks




So we build
and work and
assemble




We now are in week 10 QZ

How did we deliver? Planned units vs unit

* We should have built 100 drones

Planned vs Earned Units

Week 10
160 |Tota| Plannedgnits 150
« . 140 Planned Units
* However: we only finished 80.. ... o :]
100 z
% 80 E
= 60 S i

Units realised
40
20
0

1 2 3 4 5 6 7 8 gveelgfo 11 12 13 14 15 16 17 18 19




20 drones
short

We did not deliver as much as
planned




We have delay !

Earned schedule

* 80 drones were PLANNED to be delivered
much earlier

* In week 8 that number should have been
reached

 Not week 10

Equivalent productio
stead of 10

Planned vs Earned Units
Earned Schedule
160 150

140 ]
Planned Units
120

100 100

~[unis reates]

Units realised

80

Drones

60

40

20

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Weeks
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What does
this predict?




If we continu like this dz

Assuming every thing continues as it Prediction:
did so far week 19 to deliver 150

Planned vs Earned Units
Prognose 2: Historical productivity

e \We will continue to be late

* And late
t lanned Units [~ <
* And late = : L I
120 % 9
n 10 Equivalent WEEkS‘“\ % @ Units Future, Historic
% 80 YE- Productivity
* Until we have delivered 150 drones =
40
20

* In week 19



Increased
productivity
needed




What if we speed up?

To original planned productivity

* We never make up for lost time

* We just not delay any further

Still same 2 weeks del

Planned vs Earned Units

Prognose 1: planned productivity (but how?)
150}——,

: - End at Week 17

e

Units Future, Planned
Productivity

HHHHHH

o
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To finish on original time — what to do?

Extreme productivity increase needed

e Week 10:
* 5 weeks left

e 80 delivered
* We need to deliver 70 drones more

* We need 14 drones per week

* From 8 drones per week
* Almost double productivity!

Produce 14 drones pe

Drones

Planned vs Earned Units
Prognose 2: needed productivity

i 2

H H

: ¢ /1/:

i X . -

H T_| Units Future, Neccesary
E Productivity
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What about
money?




Earned value — Actual costs

What did we actually spent in week 10?

€12.00,-

€2.500

€2.000

€1.500

Costs

€1.000

€500

€0

Actual cost

Planned vs Actual costs

Week 10

Actual costs at week 10;
€1.200
Planned value at week 10;
€1.000

Planned Value

18

19

Overspent: € 200,

Planned costs vs Actual costs
Overspent
Week 10

Overspent: € 200

€1.000

Actual cost
Planned Value

€500

€0




Applying the same logic - where will we end dz

Continuing like this? Overspent at week 15

Planned costs vs real costs

* Working until

Prognose 2: Historical efficiency

€2.500

* ALL units are produced

€2.000

Predicted costs at week 15;

* AKA week 19 S

* Because we also delivered not enough drones

€1.000

* Total predicted costs € 2.280,- at week 19
* Overspending € 780,-

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Weeks




Units is not
money, money
IS ot units




Now translating all to monetary values Q

The plan

* A unit produced is valued at its theoretically
value

* A Drone produced equals a Earned Value of
€ 10,-

Status at week 1

Planned Value, Earned Value and real costs

Week 10
€2.500

€2.000

€1.500

Actual costs at week 10;
€1.200

Value

Planned Vlaue at week

€1.000 10; €1.000




So how does this look?

In week 10 we know what we have:
a little late, a little too much

Planned Value, Earned Value and real costs
Week 10
€2.500
€2.000
Total Planned Value: €
1.500
€1.500
Realized cost at wk 10: €
1.200
Planned Value
Overspent at week 10; €
200
€1.000 o Planned value at wk 10:
H €1.000
Actual cost /E
> Earned Value: € 800

Equivalent of week 8 A

€500 F

Earned Value H

€0 s

And we predict:
to end in week 19

Planned Value, Earned Value and real costs

Prognose 2: Historical cost-efficiency , historical planned value effectivity

Predicted total cost at week
19; €2.280
Predicted cost overrun at
week 19; €780
€2.000
Future actual cost, Historic
efficiency
Predicted end week:
19
€1.500
o Actual cost at wk 10: é
2 €1.200 1
> Predicted Eearned value at
week19; € 1.520
€1.000
Equivalent of week 8 F ]
F Earned Value at week 10: Earned Value future,
€500 E E Historic Effectivity
Earned Value F 3
€0 r u
1 2 3 4 5 6 7 8 9 Weéeks 11 12 13




Concluding:

If you can plan your project in Units_Delivered

You can predict DURING project execution

Improving your CONTROL

And with that your project SUCCESS




